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= . Bt HEE a1 BE |mtl  (#E Bt HEE faE HE |uwe] (E&E
RRRN REW ERE L= & feAs  [RES B 2.300] %
FEHh HEE g = |ut HE BEs5t A s 50| @ ERE =#45 -2V 1,000| &
=3 ERESN  [FEF773kK 200| {& B #i=5t AN hA 100| {8 ERB #LI2 100 &
B KA1 KP4k {& B Wnst ENVF 150| &
B KP4k 150| {& 2,150 {& REAR 4 EiRS BNTY 200| #
X 474k 150| {& BES Es 1wl 300| ke
EiR BE YZ'3A 100| {& = g 300 kg
BERS Tt 9 A5k & 1,250 Z&
I wIys [TV & EH HEE A = | {FEE 2,500 #
B 600 & i H¥F AEIR 1T 1,000/ ke
K BEIR, 415t 200| kg &5 200
i HL45 B4, st 500| ke 4,650 kg
t+rB 100| kg 8,210 {&
FEHh HErE e BE |mul  {EE EHER FEETA M0 H 100| kg 1,250 &
R b3 S IV 100| {& & ETHY 50( ke 1,000 4% #7E
oy FALYIFTHS 100| {& R& IZEEH |5EETA 150| kg 2,500 ¥ E5E
LR OIVLIN 350| & HE [ S prE R e 200| kg
&R AR ¥, E5A5 100| & tam ZR BARE, fat'4H 100| ke
FEE s 4. )5 100| {& Ei5 AT 415 ke
Kig L5t 150 5 2400 ke
=i bya, 75945 100| &
&R 7%, E3A45+ & o
FHE 7. 7744 300| {&
i | bua, 445+ 1,300( {& EH HEE iz B el {EE
IMER WET) 100| {& tam =mEN #95. BAH45 100| &
N IzsE ¥937. w9945 150| {& East Y5, BAhst 150| f&
ER ¥95. 15945 100| {& iy #95. B1hst 200| 1@
ES #97. HhoEst 200| {& ZR #95. Lyast 250| &
eyl 150| ke HE #97. B1hst 150| &
wkn FOR 95 150| {& BB #9355 100| 4@
e 75 150| {& 1) HiRs 200| &
EAR 415 100| {& = #9754 &
AN &R ke HE E-Ti] hIrs 200| 1@
X K&%H AR 200| {& 5= H 545 100| &
1l] =] FU) WThy# 700| ke G 11)=2) =5 Lyast 110| &
§ 150 B WUkq Khb15+ 200| &
850 kg we Y- YU1hst 100| 1&
3,600 {8 5 1,860 &
fEik iE
Eth HEE i BE |ma HE Eit HEE it = |ue| (EE
Ei& g Lyast 400| {& HER 5 HE 7 100 ke
RS (7795 100 {& FiFsN JFRIBS (491 700| kg
18 7Y, AN N 200 & BEREN |[2EsS &= 1,000| #&
bIIL AN | I =URE2 200| {& FES =Hst TH) 300| ke
=4 T4, bua & sk ] B HIt 50
453 794, boast 800| {& &t 50
44 1,100 kg
=% i YNy 100| {& 1,000 #%
=1 TIEAT |AIVE 100| {&
xE 100 {&
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